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void f3(char* p) { .
char s| | = " Jadavpur University”;
const char® pc = s;
pef3l="¢/;
pe=p;
char *const ep = s;. o
. cpf3] = 'd; . :

const char *const cpe = s;

cpef3] = "a; .

cpe = p; |
{b) Explain: argument passing by value and reference. 546 =11

2. What, E,.m the mop rersions used in the correct expressions with the

following program?-

struct X { . _
mt 3; X (int);. operator+(int);

5

struct ¥ { :
int 4; Y(X});
operator-+(X); ‘.
operator int( );

h
X operator®(X, Y);

int f{X}; o m
Xz=1; B
Yy=u

i
i




o0y
_ {'d [ Jovorp}( Jorqm~
{![s = zs]ourey mou =d }(g1 = § Buo|)[qe],
L ~ofgnd
iz mnoH ‘d PUTeN _
© }orgel, ssep:
o
'8 LIBUD 9ST0D
} ey ssep
9P0od B3 YPM Hmuﬁom
SurFuep pug mmaﬁamm 0] mBu swapqoad oy uredxo pwe @E@E A
iﬁﬁ%& Buybuvp pue 26vgunb ore 1Ry (%
eI =8-+¢ _ | sIsquInu xoagoo 818 M wq@ ¥

IO ﬁmpﬁsﬁgo. 9 UBD 0T +2 PUe M+ 2% + (] Suosserdxe sy
Y83 08 -+ J0yetedo o1} PeOlISA() “Ioyeledo Jo UOLOUN] IoqUISHL o

uognsado puawf pue sured adﬁma,&.m_wm@ 104 9 IO Eo@&mﬂm_ :
BIBP 2700%4d 0M FIIM Toquunu xepduwioo B qusssrdal 03 85e[0 %8 U] ¢

Cl=6+7¥ : | "uo1sseIdxe yows Jo senTeA
mﬁ,.ﬁ?& pue: bpoozoo QE mg i pmﬁ Om Eﬁmo,& ol &602

X401 Bt ‘B+A ‘(fyf

X toes gefta
.m.++_uw S.*DH,.TQ T H+A 0T +2

: o } Quavws qur

Q Jo ¢ a8y m




1

Page 4 of 5 -

void f( ){
Table ¢1, £2 = £1, £3;
3 = 2;
1
Rewrite the code to resolve the problems using eopy construc-
tor and copy assigiinent. 5+(4+4)=13
5. (a) What do you mean by polymorphism in C-+4?

(b} Consider the fllowing code mmmmbma

class mwBEo%mm {
inbgd; wuaw

owmmm H%m@,wm% @3& E
V . E R | . -

Redesign the classes to introduce the constructors with appro-

priate initializesswhich initialize the member variables,

(¢) What do you meam by polymorphism: in. C++-.  Assuming ap-
propriate constructors along with member initializers, consider
the code:
class Employee {int id;};
<o& main() { .

Manager mmi(4, 3), Employee mmﬁv Employee € = m;
Employee* pe = &ee;
Manager™®. prm = &ee;

pmo— > level= 2,
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void f3(char* p) {

char s| | = " Jadavpur University";
const char® pe = s;
pef3] ="¢/;
pe=p; 7
char *no:,m,ﬁ cp=s,

. epl3] = "d; ; .
= -
const char *const cpe = s;
epef3] = 'a’; .
cpe =p;

}

A{b) Explain: argument passing by value and reference. 546 =11

2. What are the conversions used in the correct expressions with the

following programi?

struct X {

int &, X(int); - operator+(int);
h LR :
struct ¥ {

int 4, Y(X);

operator+(X); "

operator int( );

IS
X operator*(X, Y,
int £(X);

Xz=1

)

Yy=uz;
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void f( ){ .
Table €1, 12 = ¢1, £3;
t3 =12;
}
Rewrite the code to resolve the problems using-copy construc-
tor and copy assighinent. 5+ (4+4)=13

5. (a) What do you mean by polymorphism in C-+4-7
{b) Consider the followitg eode sepiient:

voidipritth):fucol
classMimslgey: protested: Employee {int level;};
M .

Redesign the classes to introduce the constructors with appro-

priate initializerswehich initialize the member variables.

(c) What do you mean by polymerphism in C+.  Assuming ap-
propriate constructors along with member initializers, consider
the code:
class Employee {int id;};
void main() { .

Manager mm(4, 3), Employee ee(1) Employee e = m;
Employee* pe = &ee;

Manager* pm = &ee;

pmo— > leple 2;
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